February 6, 2020

'5.] (a) Estimate the area under the graph of f(x) = 1 + x? from
x = —1 to x = 2 using three rectangles and right end- $
points. Then improve your estimate by using six rectangles.
Sketch the curve and the approximating rectangles.

(b) Repeat part (a) using left endpoints.

Repeat part (a) using midpoints.
From your sketches in parts (a)—(c), which appears to
be the best estimate?

c) Rrea = (1N{(-.5) 4 1-{(.5) =t
¥ 1-L0LS) '
= 1.6 +1.26+3.2=67%
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3. (a) Estimate the area under the graph of f(x) = cos x from
= () to x = 77/2 using four approximating rectangles
@Q' andfright endpYints. Sketch the graph and the rectangles.
/ Is your estimate an underestimate or an overestimate?
(b) Repeat part (a) using left endpoints.
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1.

A tank has a height of 10 feet. The area of the horizontal cross section of the tank at height A feet is given by
the function A, where A(h) is measured in square feet. The function A is continuous and decreases as h
increases. Selected values for A(h) are given in the table above.

(a) Use a left Riemann sum with the three subintervals indicated by the data in the table to approximate the

volume of the tank. E\dicate units of measure.

Area= 2(50.:2) 13(144) +5(6.6)

= (6.8

h |
(feet) |l 0 ‘ 2 3 10
A(h) ’ L .
(square feety | 503 NI | 65| [ 29
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